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Unfolding of the inborn, innate abilities of a person along
with age is called

l. Growth

2 Development

3. Maturation

4 Readiness

Wmplumed  wedflgefleo 2 ememr  @uieoLimest
Bttt auwg AHPsifleEs Sdsiflas bIHMLD
SlemL6US)

1 euen&d

2 WpesTGesTMLD

3.  wpansdBeneo

4. SOPWSHHLDTSE0



The process that is continuous and cumulative is ...........
1. Growth

2. Development

3. Heredity

4. Maturation

E\BMLITEFSWINEsT DHMID SHre&Faleul LDMHMLD
1. euerigd

2 (WpesTGesTMLD

3.  wgyBeweo

4 wsisdiBeve

Quantitative change is ...

l. Growth

2. Development
3. Maturation
4. Heredity

Sieei' B mMHMLD...
1 eueITT&H

2 (WpesTGesThMLD

3.  wpansdBeneo
4 LDIL|B6me0



Stanley Hall identified this stage as ‘emotionally instable’

1. Babyhood

2. Childhood

3. Adolescence

4. Old age

61OL_IT60T QMIT60 LY LierBemevemuLl
‘IDEUTO\UWDFALILEDT  Falul 2 MIBUIDMHSESTEHLD’
ET60TM)]  SHEVOTLMIBSITIT.

1.  &wsil ugeuD

2 feiTemerTLl LigheuLd

3. &I LdhHeUD

4 PpEBS L®EUID

The psychologist who explained about incorporation,
accommodation and schemata

1. Vygotsky

2 Chomsky

3. Jean Piaget

4 Kohlberg

RUHHRIBEDEISH60, HHBEUDL| LDOHMID  6TVSGLDLLIT
upm eflers&Sw 2 _emefluieonilebiT

1 mEUGHTL 610

2 &MDere

3. 261 LwnGeg

4 GaImeoLITE



The level at which children judge morality on the basis of
physical punishment

1. Pre-conventional

2. Conventional

3. Post-conventional

4. Democratic morality

GLHMSEH6T b [Bemeoudledo SMEBem
2 | GOFMT SHEV0TLEWETTILITG  SH6UofILILIT

1 (LP6OT  LDITLY

2 LDITL

3.  Lledr LpgLy

4 LD&SEMTLE  (pewmuileomest SHMEBM

Name the psychologist who proposed that children by birth
have the ability to grasp universal language principles

1. Piaget
2 Vygotsky
3. Chomsky
4

Skinner

Hnbss  WsSE  GLHEWSHET  GILITS|EUT60T
el eflBpemmaenet LfibgHiH6\&TeTEHLD Snest
OWIDHNHESETMEOTIT 61601 M) (PETOLDMLIIES
2_emeflwieomehiT

1 NwrGe

2 MEUBHITL 610
3.  &mDend
4

6nVS60TEuTIT



The first stage in Erickson’s eight Psycho-social
developmental stages is

1. Trust Vs Mistrust

2. Initiative Vs Guilt

3. Industry Vs Inferiority

4. Autonomy Vs Shame

enflageufledr 6IL® ©_ermefluieogmiT FeLpS

WpetT@eorHmLI LigrBemevserflev (Lpgev LirBemeo

1.  BDISMS Vs SleUbDLI&ms

2. OFMLMRIGSME Vs GDMD 2_650Tiiey

3. &MISMILILSHSETEMD Vs SITLD6Y LDEUTLILITESTEnLD

4.  SEIOIHSHMILD Vs 616U &HLD

The concept of ‘Emotional intelligence’ was proposed by ....
1. Alfred Binet

2 Daniel Golman

3. Howard Gardner
4

Spearman

‘IDeTTO\6N(DES  [HIGTITETOIMI6Y ETEOTEILD  SH(THSSHIHEWEY
LPETTOLDMLOIBS6UT

1. SpeoSUrL LGeur

2. Gresflwed @smevLpedt

3.  eDmel &MTL6urT
4

enLAWIMLD 60T



10.

11.

The concept of ‘Intelligence Quotient’ was first introduced

l. Binet

2. Simon

3. William Stern
4. Terman

‘[pl6voTEvOT6Y F6)’ 6T60T60)|LD &(HSHS D60
SV WPSLILIGSS W6

1 L91Geor

2 60 LDEOT

3.  6fleOWID 6MV6)LIT6DT

4

G\LITLD6DT

The ability of an individual to develop satisfactory
relationship with the environment is ....

1. Personality

2. Adjustment

3. Intelligence

4. Attitude

G sefloaflige  sHNILYDSSILET Bepeure
OBMLMIemesT  ahUBSDSHOSMETEHD  HMEnest
Seueunm SHewLpLILIT

1 SHEHEMLD

2. euUMmBSSILTG®
3.  [BlevOTETOTNIEY
4 LD6OTLILIME3TEMmLD



Sociometry was first used by
1. J.L. Moreno

2. Sheldon

3. Kreshmer

4. Erickson

‘Sociometry’  eT60TEQILD  S(HEAEMW  (LPSETLPHED
LIwIeSTLGSSwieur

1. 6123.6160.6\LDMTIG6BTIT

2 6162060L 65T
3.  SIeQLDIi

4 enflgeroest

The change in behaviour in an organism due to
experience and training is .....

1. Development

2 Maturation

3. Motivation

4 Learning

Slgguaussmayd  LuipAwimeyd @@  murflest
PLEEMSUTEO HEWLEWIMILD LDAHMLD

1.  wpetiGeuTmLD

2 WpBT&dBemev
3. 2m&&D

4 &MHMEL



14.

15.

The aim to reach higher level of goals is related to ...
1. Learning styles

2 Aspiration
3. Readiness
4

Achievement motivation

o055 6rfledt 2_WINMBemevemL SIEDL6USET
GBETHSHD RSHEVIL6TT CISTLITLEHLUIS)

1 SDGSD 6ULPLPEDMSEIT
2 D6

3. ObwHSLD

4 SIEWL6) 2e1&HSLD

Name the theorist who proposed when the number of Trials
increases the number of errors decrease and thus learning
happens -

1. Pavlov

2 Skinner

3. Thorndike
4 Kohler

pwpdseflesr  eretoremnildens  APsliLgmed
seaumseflelr  eretuTenlSHmsHs: GEDMHH  HDMED
BEOLOLNBNG eT6dTm) Famiul GsTLLITLLTerT

1. LIT6U6LT6Y

2 erodedTeuTIT

3.  SMTeTenLS

4 Gsmameort



16.

17.

In Pavlov experiment, the dog’s salivation after conditioning
is called

1. Conditioned response

2 Natural response

3. Higher order conditioning

4 Unconditioned response

umeeoneflest LIfGsngemenTuied BemeoumSSHLILIL L
LedTeoriT prufledt 2 1SWpIBiT Seveunm)
OIBLPSSBLILIBLD.

1 BemeouiMISSLILILL  &I60MmISHED

2. SUIEOLITETT &|6OMmISH60

3. 2w @WmnE BeneoulmissLd

4.  BeweoulmISSLILILIT §I60MmISH60

"Instrumental conditioning" is also called as .......
1. ‘S’ type conditioning

2. Classical conditioning

3. Higher order conditioning
4.

Operant conditioning
“smeflgnT Beneoulmissid” Geueunm)
OIWLPSSLILIBLD.
L. S euews BeweoulmigsLd
2.  Op58 Beweoulmssid
3. 2w @WmhE BeneoulmissLd
4. 6FWeUNss Bemeoulm|ssLd



18.

19.

Name the psychologist who spoke about “Zone of Proximal
Development”

1. Hurlock
2 Bandura

3. Chomsky

4 Vygotsky

“DigwIHs  WETGeTHDL UGS ubnl  sanlw
©_emefiluieoment

1 QUDITEOITS

2 M EGhi
3.  &MDend

4 MEUBHITL 610

A student is drawing a picture to satisfy himself. This is an

example of

1. Intrinsic motivation

2 Extrinsic motivation

3. Achievement motivation
4 Social motivation

€@ LDITETOTEUEHT  SevTevilemmensy SewLwl LILLD
6UEDTRMDITEIT. JOV:3 SI6UET) 6L U BbS
PMEHSHWEHSH SMISHGSLD.

1 2 _eTaTihg 2&HSHLD

2 e\euerflLILIEmLWITEDT 26188

3. SIML6)| 2eM&ELD
4

FeLpG DNGELD



20.

21.

The ability of an individual to store his experiences in the

brain and recall them into his consciousness whenever required is

1.

2
3.
4

Memory
Recognition
Retention

Learning

@ LD6vTlG60T epemETUiled FHETT DEVLIGUHISHEN6ITE
Gaisg e — Caemeuli@GCUNE  FHedr
BeuTeY[BemevE@ LB (BEHE\SMETIHLD DhDMED

1.

2
3.
4

Bemevtey
SIRISSTILD
LDEUISSBSHSLD
&MHMEL

When a learnt material ‘A’ interferes with present learning of

material ‘B’, then the interference is called

1.

2
3.
4

Retro active inhibition
Passive decay
Repression

Pro active inhibition

SLHS SHOHMEL FamIs6T ‘A’, SHCLTMSW HHMED

FOMISHETTET ‘B’ 6DW [Bemestaysaige 2 eTen HemL

1.
2.
3.
4.

etTO\FWEOL BT FHemL
Q\FweoLILT SiLfley
PBEGSE0

PeST E\FWOL (B FHEOL



22.

23.

An individual who has learnt cycling, easily learns to ride a
motor cycle. Itis

l. Positive transfer

2 Negative transfer

3. Bilateral transfer

4 Zero transfer

MF&HBET  HES SOHMISE\STEOIL @  [HUIT
GMLLAT eNF&EBWET [BLES SHDMISHE\SHTETSDITET.
&8sl

1 GBS LDAHMLD

2 eTSITLDEMM  LDAHMLD

3.  &wmyp mHID

4 LpelWl LDMHMLD

The field of vision of blind persons is
1. below 20°

2. between 20° to 40°

3. between 40° to 60°

4. 60° to 90°

KRB GHLevlledT LmTemeull Ljeo GsTevorid

1. 20° g 6flL Gemmey

2 20° (WH6v 40° H& ewLudled
3.  40° Wpse0 60° HS QewLuded
4. 60° wW&60 90° euewD



24.

25.

Name of the Psychologist who opined that learning is
‘Construction of Knowledge’

1.

2
3.
4

J.B. Watson
Bandura
Bruner

W.C. Bagley

‘SMDMEL  eTetTLIgH  AHMley 2 ([HeunHSED’  eT6dTm)
SHIW 2_ermefluieomern

1.

2
3.
4

Gz3.19.. 6urLervedt
Lmesor(BOT

L{er6ooTT
LLjeiTuy.&l.LimsGeo

Name the programme / project that was intended to give

qualitative education to children between the age group
of 14 - 18 years

14 P56V 18 QUG 6UEDT 2 66T  GSLDIHENSHSH6IT

HEMEBTOU(THEHGLD SITLDTE0T &Heveflemul
EULDMRIG6UEWS GBMT&HSLDNSS 6\ IT60OTL
SLLID / 6\FWeodLL LD

1.

2.
3.
4

DPEP
SSA
RMSA
DIET



26.

27.

Name the State which is exempted from Right to Free and
Compulsory Education

1. Jammu-Kashmir
2 Bihar

3. Uttaranchal
4

Kerala
Beoeuss sULMLE SHevefl 2 iflewbs &L SHHBE!
Spssnemd WMBesHNG eSsilenss 2 steng)
1. @b - HeQLS
2. et

3. 2 5FHIMEhF6L
4. Gaperrr

The classes included in ‘Elementary Education’ are ......
1. classes 1to 5
2. classes 1 to 8
3. classes 1 to 10
4.

classes 1 to 12
“OpILDLISS606M ” (Elementary Education) uNedT &Lpe(HLD
EUGLIL|S6IT
1. 1 (PO 5OpD 6UGLIL 6uemT
2. 1 (P50 8D QuSLIY 6uemT
3. 1 P56 109HD QUGSLIL 6UenN
4. 1 @560 123D uGLIY 6uemT



28.

29.

Child Rights in India are applicable to the following age
group of children

1. day of birth to 6 years

2. 6 years to 14 years

3. below 14 years of age

4. below 18 years of age

Srdwinefled Gbensseflett 2 flewbseT @bs
QULIBETTENTE FTTHSEW6N

1 BInBSS PSHEO 6 DhETTBSH6IT EUEDT

2 6 DHETTBSH6IT (LPSHED 14 SHEWTBSHET EUEHT

3. 14 OpBHEHSHGLLULL GSLPHENSSHET

4. 18 SLOUIBHEBSHSLLLL GLRHEDSSH6IT

The type of Education where teaching learning programme is
imparted to children with special needs along with normal
children in the same school is ..

1. Special Education

2 Integrated Education
3. Inclusive Education

4 Non-formal Education

SNSNIeT  GSLHEMSHEBLET  FplLs Gz emey
C\EMETL.  GSLDHEWSHMETUID Bewewisg 6T
ueterfluiied &HMEd SHOLINGHE0 C\FUICOSL L EISHEWEIT
BLSGHID SH606flevens;

1.  dmlys sHevefl

2. QHRSenenihs Sevef

3. Qemewills &evsfl

4.  pedOEFTOT &Hevsl



30.

In CCE, if one is Summative evaluation, then the other evaluation

18

1.

2
3.
4

Diagnostic evaluation
Qualitative evaluation
Quantitative evaluation

Formative evaluation

QOFMLTFAWMEs LDHMID (LPLPEMLDWITEST LDSLILTLIQ6D
OFNGLILBemed WHIIE etiml eevfled LOHOWMH

LN G

1. @opwn w6
2.  gnwrer WHIIG

3.  JlensfiL@ HNIG
4.  eueriBeweo BB



31.

32.

SpODOYD  SOOIT  HOEUHLUIMT;  DHSoGIEWLWITT

BIOMEDFUID  6IFTEVEONS  [HITREVEN6D;  HBHTH

Gaubmmpr® Opsm  SWEeuMD;  Spuilesrmeo

Spbmievorm CeuetorBGeug B6v.

- SUunLed @sgemeolilelt Sp GLDOLMILD.
Semguilesr dmLiL
sevefilufetT FmLiLy
SIWIEOMBITLIQ60T FMLIL]

&6060MT  FmLiL

LD6WLPGWI LDEWLPBU! 6T 6UT — [HEVED

eureoTLl Lj6orGe0 6um eum - SUILIML6MEOLI  LIMQul
&6flehIT

1.

2.

LTSI
SeflLpeuof]

LITTSSM& 60T

66l SIMLDEVIRISEUTITIT



33.

34.

35.

‘Couemofl’ 6160TLIZHE0T EWIMIHEIT

60
&60LD
Lib3|

GUMLLI6mL

LLLITS: 6\6UQ&HSTS SIMbDLD

1

1606018 6IMLD
OHIDLINGSLD
ST ILIM&&LD

FUBHSEUTGENTLD

B. Lgspissd Quibmlul ‘OIS0
ET6DILD LIML6D 6uelMISHID SH(HSS

1

Suhsnsenwill CUTDHMISE0
BESISMSL GLMHMISHED
GUNEGISHWSLI BLIMDM]SH60

seveflemwi CUIMHM]S60

OTINEN(GY



36.

37.

‘GBS REOSHWLD’ 6TEYID HIEDed QuibHilwieur

1. SLDUSTEET
2.  GUGDITEDUTSHTEET
3.  &6UUT6UOISITE 60T

4.  eunevollgmeest

e, @by s el - Bsl

ETEUEUEMSS C\STLIMGLD
1. SLLEWENS GISMLIT
2. 2 ewom&dls QOSMLIT
3.  eflesrmsO\SmLT

4.  eIBMDEMMS GVSMLIT



38.

39.

‘BHHOSHHEWID B  C\HTEDSHE

efiflggis &mevor

6\FITEVETED

1. @Miehd, p6vemeD, LDHSLD, 6IBLIGED,LITEMED

2. 6IPSHGl, 61&M60, QWIMIH6IT, WML, Hevofl

3. &600T, UM, 6WDUl, eSS, 6\F6efl

4. OH6U0TLITED, 6ILIGUOTLITED, LIGDITLITED,

QEBTMEITLIMED, LIOESI6ITLITED

‘© L’ @UipmewmPlE  O\ETeLedNG
SLOLDEFEFTED

1. 2 608 6UPSHS

2. eflgpbEHMDLI6D

3.  SmuuewflumenT esmemL

4. O\FHMLSHSLD

Bammest



40.

41.

42.

BITLS ©_60d 60T S\ouIbemed’

OIWLPSSLILIBLI6UIT

1. uflBorh seweoEh
2. LIDID6D &LDLDIHGEDTIIT
3.  &60I(LP&LD

4.  SHRSISNS SFEUTLHSEIT

HOTEIEUETOTLIT  [HT6MEOLI  LITIQUIGNIT

1. SFWIMRIG\SITEOOTLITIT
2. usGns
3. SLDUIT

4. RULEHESSHE0T

‘wnenesr Bs66T GETemDLl EILIWIT

1. &60T)]
2. SLIQ
3. NeTemer

4. SIHEW6T

61601



43. ‘Befl + P& eTedTLG)
1. 6\LDUI (Lp6BT 6ILDUI
2. 6Wbul pedr & _uqim
3. 2.ulm (et GWDWI

4. 2.ufm apedt 2 _udlm

4. ‘@mIwimefileot e’ 6T60T SeuemL
Gum)BesTMEDTIT
1. LASLIT. (Lp.6Y
2. OpEUIBSIRISIT
3. &608

4. egsdnll

45.  OHUITSHSHETNHHTEOT  WMemenTdHemensll  Gumnfleo
Qeuetin efimementl LsLpb& LMELD SeosSuib
1. NeTemerssLsip
2. 2 _eom

3. LI6IT(ETH
4. Ligevof]



46.

47.

48.

‘C\6uetTDS  BFOFTEL60NG B6v&H&HEMEH GSMILIL]
1. eflemen56\5mens

2. Geuhmiemb&6\STEns

3. LI6WOTLS6)SHTEmS;

4. 2 _6UEDIDSHHIGHTENS

‘Br&HSID GUEIMHET S(HLD LIOESTHSEIT

1. &IHEWEUOT, 6WIMBLIL, 6W&F6VLD

N

A6, urfley, &dHemevor

w

e\6uML|, 6TLl6v, &(IHEDETOT

4.  S[HEWEoOT, Fl6oLIL, H6VT60

‘SHSHEUD BF 6\&FTE06E0I60T SHEWIMIHET

|.—\

&P, Lbg)

N

SP6emI, LDITLDILD

w

SIeM, G60LD

o~

GBI, Bews



49. ‘&0 + Gsmienr eTeUTLIS|  SREUCUEDSL

L{600TIT& S UIMGLD

1. Sweol

2. 6&B560 eflsmILD
3. diflgeo eflemmd

4.  Gometimev efl&mILD

50. OIeBHMMID HN6dG Fisemernil DM 6UIHEUS)

L Slereall
2. dbsle
3. SMETIQ

4. 6)BLR6VIQ



51.

52.

53.

QIHBLDL|ETTEYI6IT E16UEDEYILD (LPSHEMED H(BLDL|60T60l60T
et Sigemeotil LAm.
- 85 GoLruneiled Siewimbgisiter Sievofl

1. ngewnged Sievofl
2. SHSMILCUDM Sievfl
3.  B606\IMIHEHEUEHLD H6vofl

4.  Geubpmiewip SHeuofl

‘Gested B’ GIDIDILS CSTLIHSGSL! GWIMH6IT

1. Sleweobg Prflged
2. uweslledtn) SHSH60

3. WeSwunsl Cu&geo

4.  @muug Gumed GaMeTMmID Oh6uTTe0 SIS

QRUHEUT  Dl6VeDE  LIeDIfledT 2 _emIUIML6086merT
Slwieort samieugl GUITL SlewLILIS)

1. GmisamnSaOSTL

2. SUbHSabhmISOSTLIT

3. 2 LetumL(BSOSILIT

4. EIBMDEMMSEIVSTLIT



54.

55.

56.

‘IDTem60  LD6LEVISTEUTED O\GTBSHHLILLLGE B
B6u6lems 66m6BTLIMEGLD

1 6\FWieilemeot

2. Umefemeot

3. \FwiLium (Beflemeot

4.  Georeflement

spgnsT LNDES HIensT SUSIPS Sirs Seueumm)
SleiSgieTeg)

1. GCaflu @memwLUUT @ [H6T

2.  SMUIEDLD [BT6T

3.  &evefl euermigdl [HeiT

4. SEMEVEUTHET [HTEIT

‘sTeiT@heUT BEFSM60 HWDBGHIGTOT HEDFSH6IT
1. [Bewr, Bewd

2.  Bewm, G

3.  Gmm, Gmm

4.  Gmm, Beon



57.

58.

SPSHSMEYID  USBOW  LIRSH 57, 58
eflevnaaEhdHE eflemLwerfl.

Spflwr  SINWNsEH  WNemesT;  DHH60TTE0
WIIT6m60T LSsL LI6OLPUI Geugepmplufeo
SLIDELMENEOEmEd  6TEITLIT.  DHETITED  UIMEDEITSHEIT
SO BILRedlmhs &.0p. 727 - 722 Geo
Sisflw  BIG LDesTerenTeWl  62MeVLDCETTE (H&HE
BETEOSTMLWITS Sleflsslurier. SO HILG
Sigdl umGeomesfllneys @ &.p. ObMITLD
BITHMITETOTEE0 SHEQLILILILILL . &HSE0T(LPLD
SleuuiLg. Sifld, smged eeID  SUDE
O\ FMDSHEHD AMHHTLG GWbmpluied @i LDELIHMEDT.
Spflwgmed SIMwing efeomnis
1.  Smsb
2. wWmemeor

3.  eI(HEMLD

4. 6L L &LD

SIODHBILIREd (BB LM IGsomesflwim Gwpmpluieo
SLDOUDM SHPFOSTHSET

1.  &bseoid, il

2. SiBaID,51860

3.  LuleoCsmems, l&H6v

4. WIIT60 60T



59.

60.

SP&HSMEID  unLemeoll  Liggss 59, 60
eflevnasEhsHe eflenLwerfl.
eflements G \&meOBLIML GouHMmIEMLDEMLL
ghLSE0eme0  EleuevorLImi GLImLILI
Lmgemermenil LDesoTLILIS606m60!  [Bemesta)lThg,
SID CNBEHSFH SH6UTE| LDITEUID [BEHSHEUTHED

dmie\swemeo [BenevtLiLl Heosmev!

cflenesTEnIFmed RewS EIMLISE06M6D
1L SEDeTEn

2. 6euevorLIm

3.  Geupmiemid

4. 6WBEHFLD

dimiemLowiment 6\FLI60&H 66T S6ATSH6T
[Bem6uTLILIHE06m60

1L 6\BEYRISIT

2. SWWLp

3. Sleneur

4, S60T6OTLIT



61.

62.

63.

They ran through a secret passage to market.

Choose the meaning of the word, ‘passage’;

1. A lengthy text
A long narrow way

A paragraph with sentences

Ll o

A journey

Choose the word that refers to ‘a number of players’.

1. Play
2. Class
3. Team
4. Bench

Choose the word with a ‘suffix’.

1. Child

2. Childhood
3. Discourage
4. Illegal



64.

65.

66.

Choose the word with correct spelling.

1. Whispering

2. Scater
3. addresing
4. Gaint

Choose the word that can be used as a noun and a verb.

l. Truth
2. Great
3. Mind
4. Faith

His disability came as rare occurrence.

Choose the antonym of the word ‘rare’.

1. Common
2. Special
3. Particular
4. Desired



67.

68.

69.

I came across Ramu at the shop .

Identify the meaning of ‘came across’.

1. Talked to someone.
2. Helped by chance.
3. Met by chance.

4. Met purposefully.

It may be true.

This sentence means;

1. It is possibly true.

2. It is certainly true.

3. It is undoubtedly true.

4. It is not true.

Yesterday [ saw .............. one eyed man.

Choose the article that fits the blank.

l. a

2 an

3. the

4 No article is needed.



70.

71.

72.

The passengers started to shout ........... the driver.

Choose the correct preposition that fits in the blank.

l. on

2 by
3. at

4 with

Mohan who is my English teacher always buys new books.

This sentence has;

1. A defining relative clause.

2. A non-defining relative clause.
3. A noun clause.

4. A conditional clause.

I did everything I could do.

In the above sentence ‘could’

1. indicates politeness.
2 indicates submissiveness.
3. is the past tense of ‘can’.
4 is the present tense.



73.

74.

75.

They live in England.

Choose the correct question tag for this sentence.

1. didn’t they ?

2. doesn’t they ?
3. do they ?
4. don’t they ?

It is quite near

This sentence ends with;

1. a full stop
2 a question mark
3. a comma
4

an exclamatory mark.

“What’s your name, boy ?” said the gentleman.

Choose the reported speech of this sentence.

1. The boy said that he was a gentleman.

2 The boy asked the gentleman what was your name.
3. The gentleman said that what is your name.

4 The gentleman asked the boy what his name was.



76.

77.

78.

Good news .......... always welcome.

Choose the correct form of verb that fits the blank.

1. will

2. are

3. is

4. have

It was raining when we ................ the station.

Choose the correct tense form that fits the blank.

1. reach

2. reached

3. reaches

4. had reached

Let me tell you the story.
The part of speech of the word ‘me’ is;

l. a noun

2. a pronoun

3. a preposition
4. a conjunction



79.

80.

1.

Choose the linker that can indicate results.

1. Equally

2. To sum up
3. Therefore
4. Furthermore

Choose the subordinate conjunction from the following.

1. neither ... nor
2 since

3. yet

4 and

Choose the grammatically correct sentence.

1. Neela has eaten the mango yesterday.

2. Neela ate the mango yesterday.

3. Neela has been eating the mango yesterday.
4. Neela had eaten the mango yesterday.



82.

83.

&4.

Choose the correctly punctuated sentence from the following.

[S—

she said I am hungry.

2 She said, I am hungry.
3. She said ‘I am hungry’.
4 She said, “I am hungry.”

Choose the sentence in passive voice.

1. Trespassers will be prosecuted.

2. What are you doing here ?

3. My own garden is my own garden.
4. We can play on the road.

Chitrais ............. singers in Tollywood.

Choose the correct expression that fits grammatically.

[S—

one of the greater
2 one of the greatest
3. greater than
4

as great as



85.

86.

87.

The expression used at the end of a letter addressed to a
friend is;

1. Lovingly your
Yours lovingly

Your’s lovingly

Lol

Your lovingly

Choose the list with correct alphabetical order.

1. tool, tooth, too, to
2. tooth, too, to, tool
3. to, too, tool, tooth
4, too, to, tool, tooth

He looked at me frantically.

Choose the synonym of the word, ‘frantically’.

1. Skillfully
2 Anxiously
3. Steadily

4 Softly



88.

&9.

This girl strongly believes ............ God.
Choose the correct preposition that fits the blank.

1 on
2 in
3. into
4 over

Read the following passage and choose the correct
answer to the question.

One day a guru foresaw in a flash of vision what he would be
in his next life, so he called his favourite disciple and asked
him what he would do for his guru in return for all he had
received. The disciple said he would do whatever his guru
asked him to do.

The guru was able;

1. to create a disciple

2. to foresee his next life

3. to see his favourite disciple in a dream

4. to foresee what his disciple would be in his next life



90.

Read the following passage and choose the correct
answer to the question.

One day a guru foresaw in a flash of vision what he would be
in his next life, so he called his favourite disciple and asked
him what he would do for his guru in return for all he had
received. The disciple said he would do whatever his guru
asked him to do.

Choose the true statement from the following.

1. The guru would become a disciple in his next life.
2. The disciple would become a guru in his next life.
3. The guru gave a great gift before dying.

4. The disciple was an obedient person.



91.

92.

93.

The security staff ushered the minister into the building.

Choose the synonym of the word, ‘ushered.’

1. Controlled
2 Escorted
3. Continued
4 Retorted

There are many delightful things in the park.
Choose the opposite word of ‘delightful.’

1. Adequate

2 Meaningful
3. Unpleasant
4 Appropriate

Choose the word with correct spelling.
1. Simultanious

2 Presense

3. Moustache
4

Persistance



94.

95.

96.

97.

Hemant is not sure about the existence of God. He is ;
1. a mercenary

2 an agnostic

3. an honorary

4 a theist

I can get along with all my classmates.

Choose the meaning of the phrasal verb, ‘get along’.

1. Have competition

2 Have friendly relationship
3. Have rivalry
4

Have no competition

I will never set foot in your house.

Choose the meaning of the expression, ‘set foot’.

1. Sit

2 Work
3. Spend
4 Enter

Choose the incorrect expression with respect to the
collocation of words.

1. Thatched roof
2 Unsafe roof
3. Y oung roof

4 Slippery roof



98.

99.

100.

Today, Madhu has a viva voce exam in his English subject.

Choose the meaning of ‘viva voce’ in the above sentence.

1. A meeting

2 A spoken exam

3. A talk with a classmate

4 A competition in essay writing
I like reading .......... poetry.

Choose the article that fits the blank.

l. a

2 an

3. the

4 No article is needed

We should abstain ....... evil and do good.

Choose the correct preposition that fits the blank

1.

2
3.
4

from
with
to

an



101. Servants ............ are honest are trusted.

Choose the word that fits the blank.

1. whose
2 who
3. whom
4 which
102. “You are bigger than ........ animal in the forest,” said the fox

to the elephant.

Choose the correct expression that fits the blank.

1. most other
2. many other
3. any other
4. one another

103. May I go out now?

This sentence indicates.

1. granting permission

2 giving permission

3. taking permission

4 sanctioning permission



104. She didn’t leave this place.

105.

106.

107.

Choose the correct question tag for this sentence.

1.

2
3.
4

didn’t she ?
did she ?
doesn’t she ?

isn’t it ?

“I’ll tell you the whole story,” said the man.

The reported speech of this sentence is;

1.

2
3.
4

The man asked to tell him the whole story.

The man said that he would tell them the whole story.
The man will tell the whole story to the boy.

The man said if he would tell them the whole story.

Choose the sentence in passive voice.

1. I have to distribute food.

2 She had food to distribute.

3. Food was distributed free of charge.
4 He has fought as good fight.

Look ! The crow......... on the tree.

Choose the correct tense form of the verb that fits the blank.

1.

2
3.
4

sat
was sitting
is sitting

sitting



108.

109.

110.

Sudha Murthy ............ an interview in Pune several years
ago.

The verb that fits the blank is;

1. attended

2 attends

3. will attend
4

does attend

The police .............. caught the criminal.

Choose the correct verb that fits the blank.

1. have
2 has
3. are
4 is

Choose the expression with the correct order of adjectives.
1. Beautiful a red umbrella.
2 A umbrella red beautiful.
3. A beautiful red umbrella.
4

A umbrella beautiful red.



111. Seeing the snake, she fainted.
This is ;

1.

2
3.
4

a simple sentence
a compound sentence
a complex sentence

a compound complex sentence

112.  Your love for her will save her.

Choose the part of speech of the word, ‘love’.

1.

2
3.
4

113. Choose the grammatically correct sentence.

Lol

An adverb of time
An adverb of manner
An abstract noun

A proper noun

When you saw the movie?
When did you saw the movie?
When do you saw the movie?

When did you see the movie?

b



114. Choose the sentence with correct -capitalization and
punctuation.

1. Who did Gopi marry, she said.

Who did Gopi marry, “She said.”
“Who did Gopi marry,” she said.
“Who did Gopi marry?” she said.

Ll

115. A news report begins with;

1. a heading
2. a signature
3. a date

4. an image

116. Choose the list of words with correct alphabetical order.

1. cannon, canopy, can, cot

2. cap, capital, canvas, canteen
3. block, bloat, ball, bull

4. bag, baggy, ball, bull



117. Choose the phonetic symbol of ‘es’ in the word ‘roses’.

1. lez/
2. liz/
3. Is]
4, lis/

118. Choose the odd word with respect to pronunciation.

1. Change
2. Chance

3. Cheap

4, Character

119. Choose the word with two syllables.

1. quite

2. monsoon
3. remarkable
4. relative



120.

121.

122.

Melic or lyric song was sung;

1. by a single voice

2. by collectively by many people

3. by only musicians

4. by a male voice and a female voice

‘The masque’ is a dramatic entertainment in which plot,
character, an even to a great extent dialogue, are subordinated
on the one hand to spectacular illustration, and on the other to
musical accompaniment.

This is said by;

1. Henry- VIII
2 Kyd

3. Saintsbury
4 Charley

F. Marion Crawford described ‘the Novel’ as;

1. a pocket theatre

2. a feast of feelings

3. a narration with colour

4. a narration with entertainment



123.

124.

The following is a literary epic;

1. War and Peace
2. Paradise Lost
3. Beowulf

4. Divine Comedy

‘Point of view’ signifies;

1. The number of characters in a novel.
2. The number of lines in a poem.

3. The way a story gets told.

4. The likes and dislikes of the audience



125. Read the following lines of poetry and choose the correct
answer to the question given after.

OUR three red champak trees

had done it again,

meaning they have done it before.

The champak trees:

1. prevented people entering the house.

2 bloomed and released the fragrance of pollen.
3. stopped the fog entering the house.
4

spread their branches widely.

126. Read the following lines of poetry and choose the correct
answer to the question given after.

Took the face-cloth from the face;

Yet she neither moved nor wept

These lines say that;

1. The woman refuses to grieve.

2. The women removed cloth from her face.

3. The women gave her face cloth to somebody.

4. The women took the face-cloth to wipe her tears.



127.

128.

Read the following and choose the correct answer to the
question given after.

He said it expanded his lungs (How to Live to Be 200)

In the above line, the word, ‘it’ refers to;

1. taking a cold plunge every morning.

2. lying on stomach.

3. standing and breathing at an open window.
4. lifting iron bars.

Read the following and choose the correct answer to the
question given after.

It is by no means uncommon to find men whose knowledge is
wide but whose feelings are narrow. Such men lack what I
call wisdom. (Knowledge and Wisdom)

This passage says that;

1. all people in the word have wisdom

2. only people with no knowledge have wisdom

3. people with narrow feelings have lack of wisdom
4. wisdom is not needed for anybody.



129. “Ecology’ is a poem which could be read as;

1. one single line

2 a poem of fourteen lines
3. one single sentence

4 only five sentences

130. In the poem, ‘The Word from a Railway Carriage’, the poet
doesn’t see this from the railway carriage.

[S—

the beauty of the area

2 the beauty of the train

3. a child climbing up steeply ground
4

a homeless person

131. In the essay, “How to Live to Be 200 the writer tries;

1. to highlight the importance of exercises

2. to correct the follies and thoughts of people having
health mania

3. to say that he wants to live upto 200 years

4. to highlight the nature of disease.



132. According to Russell, ‘wisdom’;

1. can be taught as a goal of education
2. cannot be cultivated

3. develops our ego

4. stops us from thinking

133. The animal that voluntarily left the farm was; (Animal Farm)

1. Mollie

2. Boxer

3. Squealer
4. Napoleon

134. The title that Napoleon eventfully assume for himself was;

(Animal Farm)

1. King of the animals

2. Lord of Manor Farm

3. President of the Republic
4. God of beasts



135. The person who lost the chance to marry Portia by choosing
the silver casket was; (The Merchant of Venice)

1. The Jew of Malta
The Prince of Arragon

The Duke of Venice

Ll

Bassanio

136. After accepting the court’s sentence, Shylock said; (The
Merchant of Venice)

1. Antonio cheated me.

2. These are most unlawful laws.
3. Forgive my sins.

4. [ am not well.

137. In ‘Under the Banyan Tree’, Nambi was;

1. a temple priest

2. a village farmer

3. a tailor in a village
4. a short story writer



138. Nambi would light a lamp under the tree; (Under the Banyan

Tree)

1. to collect money from the villagers

2. to give a signal to villagers to assemble and hear his
story

3. to give flowers to the villagers

4. to check the health of the villagers

139. Choose the correct statement regarding a language.

1. Language is systematic

2. Language cannot exhibit duality of structure
3. Language is static

4. Language is unextendible

140. Acquisition is not usually associated with.

1. first language

2. mother tongue

3. language at home
4. third language



141. Who remarked English as a ‘window on the world’:

1. G-B. Shaw
M.K. Gandhi

Jawaharlal Nehru

Lol

Rabindranadh Tagore

142. Choose the wrong statement regarding the English language.

1. It is the major language of media and broad cost

2. Education from pre-primary to the highest level is
available in English

3. It is a library language

4. It is the first language in India.

143. “Language Acquisition Device is an inborn trait.” This is
believed by:

1. Cognitivists
Psycho-linguists

Behaviourists

Lol o

Realists



144.

145.

146.

Things / objects have different names in different languages.
This feature of language is:

1. Systematicity
2. Arbitrariness

3. Extendibility

4. Creativity

The following is not the sub skill of speaking.

1. Articulation of sounds in isolation.
Articulation of sounds in connected speech.

Articulating stress patterns within words.

Lol

Decoding sounds.

Understanding the summary of a book by reading the preface
involves:

[E—

extensive reading
2 intensive reading
3. skimming
4

scanning



147.

148.

149.

The following establishes a relation between theory and
practice of language teaching.

1. A method
2. A technique
3. An approach
4. A strategy

The method that can be used to teach classical languages in

India is;

1. Direct method

2. Grammar Translation method
3. Dr. West’s method

4. Bilingual method

Translation from one language to the other language is
completely avoided in.

1. Bilingual method
Direct method

Situational method

Lol A

Structural method



150. Learning can happen best when it is shared with others. This
is the belief of;

1. Spiral Approach
Cyclic Approach
Collaborative Approach

Lol

Eclectic Approach



